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Si(111) interplanar distantce 3.1356 A
Tentative wavelength : 1.206 A 11-Oct-06
Initial gonio-base position : -8.0308 mm
Calculated analyzer angle : 11.088 deg.
Initial 2@ Peak (deg.)|Gonio-base Scan Profile (mm) Analyser ©® m Adjustment (deg.) Final 20 Peak (deg.) |HV(V)
Goniometer Encoder| left  right center width gap initial adjust final Gonjometer Encoder
No6 -11.73  -625 -8990 548 2.79 10.697 0.220 10.477 -0.2202 -0.2168 | 855
No5s 25.003 | -10.05 -7.74 -8.895 231 1.17 10.544 0.198 10.346 24.8066 24.806 679
No4| 49.9962 50.003 | -10.84 -7.55 -9.195 329 1.68 10.984 0.267 10.717 49.7333  49.7339 | 744
No3| 75.0005 75.003|-10.32 -7.74 -9.030 258 1.31 10.875 0.229 10.646 74.7654 747677 | 657
No2[ 99.9987 100 |-10.03 -8.06 -9.045 1.97 1.00 11.1 0.232 10.868 99.7633  99.7671 | 667
Nol[ 124.9965 124 |-10.76 -7.78 -9.270 298 1.52 10.87 0.284 10.586 124.714  124.7204| 739
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Si(111) interplanar distantce 3.136 A

Tentative wavelength : 1.206 A
Initial gonio-base position : -6.8211 mm
Calculated analyzer angle : 11.088 deg.
Initial 2@ Peak (deg.)|Gonio-base Scan Profile (mm) Analyser ® m Adjustment (deg.) [Final 20 Peak (deg.) | HV(V)
Goniometer Encoder | left right center width gap initial adjust final |Goniometer Encoder
No6| 0.0071 0.2205 | -10.5 -5.06 -7.780 5.44 2.77 | 10.697 0.220 10.477 -0.2138  0.0029 | 855
No5( 25.0077  25.2204 | -8.87 -6.55 -7.710 2.32 1.18 | 10.542 0.204 10.338 24.8053 25.0181| 679
No4| 50.0067  50.2206 | -9.62 -6.29 -7.955 333 1.70 | 10.982 0.260 10.722 49.7447  49.9586| 744
No3| 75.0049 752205 | -9.07 -6.5 -7.785 257 1.31| 10.873 0.221 10.652 74.778 749937 657
No2( 100.0034 100.2206( -8.78 -6.82 -7.800 1.96 1.00 | 11.096 0.224 10.872 99.7743  99.9914 | 667
Nol| 125.0010 125.2205| -9.54 -6.58 -8.060 2.96 1.51 | 10.864 0.284 10.580 | 124.7152 124.935| 739
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Ge(111) interplanar distantcc  3.26 A
- Tentative wavelength : 1.206 A 13-Oct-85- ce
Initial gonio-base position : -6.8211 mm
Calculated analyzer angle : 10.660 deg.
Initial 20 Peak (deg.)|Gonio-base Scan Profile (mm) Analyser ® m Adjustment (deg.) |Final 2© Peak (deg.) | HV(V)
Goniometer Encoder | left right center width gap initial adjust final |Goniometer Encoder
No6| 0.0071 0.0082 (-9.715 -5.04 -7.377 4.674 238 | 10.711 0.127 10.584 -0.1185  -0.1179 | 855
No5| 25.0077  25.0045 |-8.523 -6.48 -7.500 2.045 1.04 | 10.788 0.156 10.632 24.853  24.8497| 679
No4| 50.0067 50.0046 | -9.04 -6.23 -7.636 2.808 1.43 | 10.770 0.187 10.583 49.8184 49.8164| 744
No3| 75.0049  75.0047 [-8.803 -6.51 -7.658 2.291 1.17 | 10.660 0.192 10.468 74.8087 74.8087| 657
No2( 100.0034 100.0047| -8.42 -6.71 -7.565 1.71 0.87 | 10.655 0.170 10.485 99.8309 99.8321| 667
Nol| 125.0010 125.0045( -8.91 -6.29 -7.600 2.62 1.33 | 10.609 0.179 10.430 | 124.8231 124.827| 739
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Centering of Analyzer
Tentative wavelength : 1.206 A 14-Oct-06
Initial gonio-base position : -6.46 mm
Calculated analyzer angle : 10.660 deg.
Initial 20 Peak (deg.)|Gonio-base Scan Profile (mm) Analyser ® m Adjustment (deg.) |Final 20 Peak (deg.) | HV(V)
Goniometer Encoder | left right center width gap initial adjust final |Goniometer Encoder
No6| 0.0065 0.0026 | 9.1 -47 -6.900 44 224 10.69 0.101 10.589 -0.101 -0.105 | 855
No5 25 25.995 -8 -6 -7.000 2 1.02 10.77 0.124 10.646 24.878 24871 | 679
No4 50 49995 | -85 -59 -7.200 26 132 10.76 0.170 10.590 49.832  49.827 | 744
No3 15 75.0025| -84 -6.1 -7250 23 1.17 | 10.649  0.181 10.468 74.815 74.813 | 657
No2 100 100.001| -7.8 -64 -7.100 14 0.71 | 10.647  0.147 10.500 99.849 99.85 667
Nol 125 125.005| -84 -6.1 -7.250 23 1.17 10.6 0.181 10.419 124.82  124.825| 739
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